MR 28 o2 (F45%81%)

=] ==
WA b 288 BH%KFTHZEEF AL 7 HEER ﬁggﬁfg{@gﬁ
ZHINE OE&EDH [V]7E H D Ix AN
WIRECERT | Ry R r = AT
T [Ee | Desl DA% O02of ) m( ERIH)
5 | & |res | OO M A 5y M Zofh ( )
K| 4y |zom |0~y b (Ol DES) <y hrar O ( )
ff; - i % 2 0 05 M suimieagnhd 2%ims &t
%ﬂ Z i
3 - WO ERE fH Y
L 137.6 ni|M = 4.5 & 4.5 & 8 & v fn=  4.58 X2, 684, 8&
FE\M B M AE rL o OFofm ()
& - | P mEE=
Wy BE|] 2 o
m
%f: Z DAty B
B | e 1509.37 ) D LA E O
C2 BE\REFD (42 ) AEEE & ( 54 ) FIMA &
s oE s e O T £ IR 0 [ o g 5t
i s AR OFrE & AR O & () F0#marz)—¢
MU A E R v |MAREaR I O = ot
kb afitsnvE |0z ofh V2 D (7 1 7 1)
[CIB(E, il ( ) | (3ECcAmEDLY ) | ( ) [T
E & |MBlangs  Ozof ( )
= H A |MFeoRrHR oM ( )
i | | g |OF = O 0% % Ozoft (s
N (T S ke COF & Blzof ( EHEIm
- | O FAE |OFkE st et Ozof ( )
ol rrr @k o [V 7t /o MR MR &R Ozof ( )
wm | BEs D5 (3 & OaL | w & &6 ( i) Ol
| m-m |5 ( o - BF) 07 L o |ME ) 7L
AV 77 —|O0F 7L | Zofth
| BR kml|CMRERE  ontceem 4.7 kmlCS 245 km
O ERE L7 k|9 k(] kn
D fiti Ol wexwmgsr 7.5 kNP ERER 0.9 kmld km
B Dibe  zoabe 5.5 kPR b 8.2 k) kn
(g2 egpxmuwss 7.9 koS —“HERAEK 8.4 kml|[ km
Lo (OfF ME ) AEsasofE (OfF C&E )
il
i




